MORMSDIST

X v & =A1+B

1

A C
1 [ 10 12]
2 |=A1+B1 |
NORMSDIST ¥ J A&~ =A1-B1
A 1
1 [ 10 12]
2 =A1B1 |
NORMSDIST X o A =A1T"B1
A C
1 10 12]
2 |=a17B1 |
MORMSDIST ® o A =A1B1
A C
1 | 10 12]
2 |=A1B1 |
NORMSDIST X o A =A1"B1
A C
1| 10 12]
2 =A1"B1 |
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Sl Jadly
JuaS) (B Apulal) cilalant)

doala) dlual) cililaal)

B1 5 A1 uﬁu\dwcﬁ
= A1+ B1

A e BL AlA (s sine )k
Al

= A1-B1
alalh A1 LA (s s @ i
‘Bl

=A1*B1
‘Bl Adal) s sias

=A1/B1
598l de g8 o A] AN (5 5ias
‘Bl 5=

= A1 B1



adhial) cillaxldl

" -~

S Jidl ANOT 5 OR 5 AND Ahaiall llaall (i jaiasi G gus

Insert Function

L el A e sl

Search for a function:

click Go

ype a brief description of what you want to do and then Go

Or select a category: |Logical

Select a function:

AND(logicall, logical?,...)

are TRLIE.

Help on this function

Checks whether all arguments are TRUE, and returns TRUE if all arguments

J

O | Cancel J

Function Arguments

OK & AND _tias

Logical1 |42

] = TRUE

Logical2 [52|

=k = TRUE

Logical3 j

Formula result = TRUE

Help on this funchion

Chedks whether all arguments are TRUE, and returns TRLUE if all arguments are TRLE.

Logical2: logical1,logical2, ... are 1 to 30 conditions you want to test that can be
either TRUE or FALSE and can be logical values, arrays, or references.

] =

= TRLE

Ok, | Cancel J

zid NOT 5 OR 2 53 44 yhall iy
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C2 - # =AND(AZ B2)
A B C D E
Result1 Result? AND OR NOT
J TRUE TRUE I TRUE _| TRUE FALSE
TRUE |FALSSE TRUE TRUE FALSE — AND( A2’B2)
4 FALSE TRUE FALSE TRUE TRUE
5 | FALSE FALSE FALSE FALSE TRUE

D2 - # =0R{AZ2 B2)
A B C D E
Result1 Result2 AND OR NOT

J TRUE =~ TRUE = TRUE [_TRUE ] FALSE

TRUE FALSSE TRUE = TRUE | FALSE =QOR(A2,B2)
4 FALSE TRUE | FALSE TRUE | TRUE
5 | FALSE FALSE @ FALSE FALSE  TRUE

E2 - A =NOT(A2)
A B C D =
Result1 Result? AND OR NOT

J TRUE TRUE TRUE TRUE I FALSE _l

TRUE |FALSSE TRUE TRUE FALSE :NOT( A2)
4 FALSE TRUE FALSE TRUE TRUE
5 | FALSE | FALSE | FALSE | FALSE TRUE

dpadl) 45 ginl) g ABlaal) 45 gl

LA oo AT LI IR ey Lad ga s ) sie W i dadia 3 4R
(R e iy 13 ) 1 Dl s A 2senl) b

rdgaudl) 45 gial)

OY i Olsie ade Gllarg A1 Jie e 4lall slacly 5 dusill 45 giall
Cus (e Al e e Bilay o g oa) Al ) el Gl siae s
Lagh a5 ) el 5 3 ganll
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=48tk al) 45 gial)
e i AT iad LaglS ol pladl 5l 3 ganll 30 alal § Acdle aia g o
Sao Ll ) iy ageall ey ol QAN cilgine Ui 1ME A 3 genl
@ A Al o2n (5 sine rasi i Laga Jhandl o) Gy AGT 5 il e
Go AAN ey iy SABT 5 ki 3 genll S Ll il dsia b olSa
) dadia 8 lSa (5 L) sine Ui Lage Shaud) gl 3 sanll Can
ddaall e i E5 Adal) ;b

E5=A1+B3$3 + $C4 + $D$6
2 GO sl ) e Larie

G9 =C5+ D$3 + $C8 + $D%6

A B C D E F G

Bl A

2

3 3 —-— D3

4 C4

5 s ES

6 D& D6

7

8 C8
9 G9

danilly C5 4dall a8 58 ES Alall danally AT 4dal) o8 oo oDlef JSAN 4
dgaadl o JS A At Disie oMy dgeally hadl Cus e GO AdAl)
B aseall A lgaf oo Cua e BS Adall duially B3 Zalall ad e, yhaull
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Ldla LagalS (S15 3 ganll (8 Lgalise Cun (0 G9 4dall D3 Audadl o85S
osdd haudl 8 dallaa g 3 senll 8 A Dsie oda 5 3 Sl i a8 o
dganll A agall o s Cus (0 $C8 5 $C4 LAY 8 50 e Gulay 23S
o2 5 Jsill e GY 5 E5 WAl das Hlandl 40y a8 sall 238 38 C
(o alse iy ol $DF6 LAl Hlasdl (8 dpnais 3 geall B ddllas 453
(e IS (8 Aalhae 45 gie 338 5 G9 LA ES Adal) soaiy Hlaud) gl 3 geall Sus
bl 5 3 sl
SA) Jae il o) ciladial alia) gl 4 gie
AT A e 5 A dadia L Jlae ol 4la Aad ) sliw) G
dniiall 8 ddadill Adal) 3] ae lgiesd aeni () 4 5 Sheet? daiall
S o 58 ALY ALl
=Sheet2!Al

3 iad (5 Al Jae dadia (ALK (5 5ad Al g day ) ja aiay LSy LS
Sheet]l Jae dnsia A AL Adall dad ) [ 4l addlad) ddadal) 2080 4
SUb a 985 ~ g3 Budget.xls dee QUS4

=[Budget.xIs]Sheetl!A1+1

=’[Budget Analysis.xls]Sheet]’!A1+1
$108 Gle Gald) aul (592 1) 7 w6
sl Gl JalSl) aall g s i (e Jaall S S 13
="C:\MSOffice\Excel\[Budget Analysis.xIs]Sheet]’!A1+1
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a8 ) ey
Lpall s ()52 hadh jua e dadl o s ) zUs3 Gl (e )5S A
“ZATH10” kpall a5 0 o (5520 BIB10 ol S L] 50 sl

B1 - A =A1+10
A C

B
1] 1] 11]
12

2

3 13
4 14
2 15
6 16
T 17
8 18
9 19
10 10 20

davin sall Jleds) JLaa) vie Aadoall sda L) U i 13)

B1 - A =A1+10
A B
1=A1+10
=A2+10
=A3+10
=A4+10
=A5+10
=A6+10
=A7+10
=A8+10
=A9+10
0 =A10+10

goaill Laxiind 5 C10 N C1 WU B10 A B (e pill e 2 5 58 ()Y
dadall Clua sale) 5 danall 5uat 23 55 Loal gaall fd s 4ld salal)
Lidad (S 1y i C1:C10 5 B1:B10 <i¥laall (e JS b 2l fa
@A Galad) Feudl) arati W8 juad 50 C1:C10 Jaedl (B aill clay|
e baally Sl Paste Special. .. a3 Edit 4ailall (e L) 4dde Juans
Jedad a5 Wl 5 e ol el LA

2
3
4
9
6
7
8
9

—

Lo R = RE N R R R R R LN ) P

D00 =] [T N P L D —

—
=
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Dl 3saia jelad Paste Special...

C1 e fx
A B C D
| 1] 1 ] =

2 2 12 b Cut
3] 3 13 Copy
4| 4 14 |8 peste
5 | 5 15 | Paste Spedal...
6 d 6 16 Insert Copied Cells. ..
g 1 ; ] ; Delete. ..
o) ol g 19 Clear Contents
10 10 20 i'd Insert Comment
1_1 | 5 Format Cells. ..

e = et e o o = £ (=L R 1S PR S

>

B

Paste Special

Paste -
Al

" Eormulas

g Formats
" Comments

O 0 00 = DN L2 R

-t

Operation —
* Nore
™ add
™ Subtract

[ skip blanks

|

C
| I
12

D

™ validation
7 All except borders
™ Column widths

™ Formulas and numb

7 Values and number
7 Multiply

™ Divide

[ Transpose

o]

er formats
formats

Cancel

BENP

ol (52 Jadd aidl) 2 234 Values s Paste Geall s

50



A B C
1] 1 11 11
L2 2 12 12
- 3 13 13
4| 4 14 14
5| 5 15 15
_6 | B 16 16
Ea 7 17 17
8 | 8 18 18
9 | g 19 19
10| 10 20 201

a3 gaall A die dadall U Hlas 13)

A B ¢

I 1 =A1+10 11

2 |2 =A2+10 12

3 |3 =A3+10 13

4 |4 =A4+10 14

- E =A5+10 15

6 6 =A6+10 16

7 |7 =A7+10 17

8 |8 =A8+10 18

9 9 =A9+10 19

10 10 =A10+10 20

&ud\ Y
leie iy 02 5 donnaall JLa) 8 eUadl (S5 55 () e iall Al g 2l (e
;@Lﬂ\ \.@.mz\ %) cad]

M\ Uadll
@@ﬁmw&w\ dglaa #DIV/0!

Ae WAL 5 gina o Aapall
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adial) PRENVY Ll sz\ A druall #N/A
Sy pale e o il JSGNA

5 sia e bl o)) s

Ollae adald 203005 Aapall #NULL!
sabliny
ad ) Linin g Dliied Ao ae A a4 #NUM!
Q sa 20 B g dls 8 Gl
83 se pt AlA L pdidaall #REF!
Wall & sl e Jale (5 5a dapall #VALUE!

O oina 130 5 (HtHHHE) 5 55 ST ) Ala aa Laie Und 4 llia
ae (e e Jaly aaall Heday (ST Cunliall g Luay) 4l Ll 3 gaal
J}Aﬂ\
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Goal Seeking <iagd) (o Sl

Jus) Jie il Cladia pe b sial)l CLIKEY) aa) (e Caagll ce il
Gl o A ol OsSan Ble M Jie Jise e DY) 8 e (a2l
Uensd Jlsad) 128 Jie Je AaY) Wle (e " 20% Al Glanall
anlial JSa) e Jandl daiia

Al oale alad US 18 ganall ge g glailly Jaad 30184) (o8 agll e Sl
Miad Ao A (aad Al LA 5 Al o daay 8 g JusS) (8 dpiall
G sthaa s $325,000 J il yrw S5 Japilly J jia o) 5l 2 5 &bl (a0 yiadl
saal bludl e (ALl ady o o Joiall a0 20% gsles () 48
a3 JuS) 8 il sleall 038 Lilaa] 13) 89 3238 aa g 360

A B
1 | ke o)yl Jabudl) aaaas
2 A EUW
3 ¢luall me  $325000
4 g1 Aaial) 20%
5 el adall Bae 360
6 84D Jaee 8%
7 Sila Al
8 o= Al e $260,000.00
g 4y el 4l $1,907.79
10 2,05 4aidl| $686,803.64
11 4,1 338 $426 803 .64

gaall (e i BR:B1 1 LAl O3aadll 5 23 B3:B6 LA
BS: —(1-B4)*B3
B9: =PMT(B6/12,B5,-BS)
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B10: =B9*B5
Bl1l: =B10-B8

A B
Joa £l BLody) Laas
Al
¢yl yae 325000
sl daiall g2
el adall 320 360
204l Jaes 0.08
Sila il
o= Al ek =(1-B4)*B3
4y el daidll =PMT(B6/12,B5,-B8)
4,<)) 4aidl) =BO*B5
4,05 5940 =B10-B8

Jines 405 Cilady e aing (i 58l dndall Cand PMT el a1l G
axdall oda () L bl 1 §1,907.79 & dopell) Aadall ) Jaay il saild
$1,200 ) 258 ads ah aodativny 43) 3) (5 yidiall dpuilly s Alle 4y el
f Culiall (el jrs) o1 Al jrs 58 Lad Ly yed

dS (A A el dadall Clua g o) i) e i LiSay J1paadl 138 e 40la2
@t S il 43k dia Sy Gsthall A5l e Juast s 5 s
Goal s Tools <l sa¥) 4aild (e GlIA Caagll (e Eanl) 41K s
Seek
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Tools | Data Simetar  Window

Formula List

Solver...

| Goal Seek...

Macro 3
Add-Ins...
Options...

a= Macro Systems Add-ins

SimTools 3

Resampling r

Data Analysis...

Dlsall Bsaua jelad

1 e eyl BaLod) aaan -
5| . Goal Seek
3] SPE I g T A
4 qu\ﬂ il 20% To galue:. |12IIIIII
: ! ".,G_"_‘,._ a_ﬁ.ﬂ = 260 By changing cell: ]5353 ij
6 ailall Jums gL [ ok ] canal |
7 ey
8 | =l ke $260,000.00
9 “yses) daiddl §1,907.79
10 | 4.lc) 42811 $686,803.64
11 | 4,lc) 3.44) | §426,803.64

b Al e $1,200 Loed dadal uliall olall jew gale Jla La
Set cell: & Aeddl dadall e (goat Al sl ey Jialy $ha 4l
o Qgllaall ARl ey aagy To value: & csthall dladl aag

223 OK e bzl s By changing cell: 8 e
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Goal Seek Status

Goal Secking with Cell B2
found a solution,

Target value: 1200

Current value:  51,200.00 £

I A B |
1 JFa o) pdd Bl asaas

—

3| sl |  $2044251
4 g1 Aadall 20%

5 | ety 28l B 360

6 | Bl Jana 8%

8 S il

'8 o= Al ke $163,540.19
9 | i el daddll  $1,200.00
10| 4,51 4adall $432,000.00
11 | 4,050 504 $268 459 81

Al G all gl a3 $1,200 e Axdal Cuuliall J 3l e o) (6
.$204,425 s»
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dpuila) Juus) Jles 5 J) 92

ikl Caliaal J1 sl (e 5 S e sana e Ju) (5 5 Ll U S5 LS

: IS 15l 03 el e J grmall (S

Jsall Gnse Jeasdl el £ o L)

Search for a function:

Select a function:

Help on this function Ok | Cancel I

Insert Function

.Type a brief description of what you want to do and then Go |
click Go

Or select a category: [Math & Trig _:j

ABS(number)
Returns the absolute value of a number, a number without its sign.

el el e A ETSE I ENEA N

: SIS A1 ol e J paal) @liays

Go e barall g Sl 3385 8 AJal) e US55k (e -

3 i 3280 o 1) g Cilial) s 5380 (e Al Caia sl ol -

S A edalaS Aaliall J)sall g

PRIRN| J\PoASU)@_LJSOKGJLLMABS Mdﬁﬂju‘ﬂ\ _)1...33;‘\&:_1
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ABS - X .J =ABS()

A | B | € | D | E | F
1 [=ABS()
Z
'3 [ Function Arguments
4 | | aes
o | Number || = =
6 | =
7 | Returns the absolute value of a number, a number without its sign.
8 |
2y . .
1'[] [ MNumber is the real number for which you want the absolute value.
12 Formula result =
13 il Help on this function QK | Cancel
14

Al o2a aladin] 48S i 58 Ayl Jas s 50l sall 3380 () JaaY
:Array al) oy

3 sasae 5 ) Jlae A () Lasy 4830 L LAY (e de sana
3 hal Juall 3k Letiallas alyy 38 shian o) Coa o liie) (Kay (8 sheaa
: Array Formula < $ia 4530

sl Aai daad g aill (e JS) gl de gena o bl Baay 0 8 ddpa A
Lpall Jaxiy | {0l YL Lahlaly el Cauall dapay il sae
o) 81 a5y JuS) a5 Wil CTRL+SHIFT+ENTER  ziliall Jasica,
Ll
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rdia diuay Baa) g dall Gl
Baal g At e Jpaall Glilia 320 o) aY Clia daua aladin) adaiis
AL guall e 22 Jlain) Gk ge deall dsdia oo Jad sl g
U Jnii Gl o g8 SV 5an 5 Cin Rapeay
Lo Caall dapa Jlan) oy Al Al sl -
‘Caall Lapa Mied | Cauall daua Jaol -

={SUM(A1:D1*A2:D2)}
JS pand & A4da K1 A2:D2 cacall s AT:DT coall il sine 0 iy o 66

e il
A3 - A {=SUM(A1:D17A2:D2)}
A B G D E
1 20 30 50 10
2 12 11 9 12
3 [ 1140]

oo Llad Jaol W o) Jaay
=SUM(A1:D1*A2:D2)
CTRL+SHIFT+ENTER (sl bl dapall 038 Jia) e iy 2ie -
S g A st Al jelas L3 { ) Gl AY) Jes) J2ad Ll
: Sl

20x12 + 30x11 + 50x9 + 10x12 = 1140
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"Cia duay s das il

A LAY e e b Caall Jad o ny Cia day il 320 sl
Array Arguments «auall Yo callati LS saae ¥l ) shaull axe i
Z‘,;j‘-ﬂ‘-.’ PRy

Lo Cauall apa JR) 3y 3 A LAY Jlae sl -

A dsanll 3 5eiV1 5 B 3 gandl 8 Cilagual) LA o) Dad dapall Ja -
e i 2aa Al g il el bl e adll 33a3 TREND alali
(AU Cuall apa Jaiy C1:C3 LA 43306

ABS + X ¥ A& =TREND(B1:B3A1:A3)
A B £ D E
1 1 202|=TREND(B1:B3,A1-A3)
2 2 210
3 3][ 100,

Adll) Aaill jelat CTRL+SHIFT+ENTER (e bl die -

C1 - # {=TREND(B1:B3 A1:A3)}
A B C D E
1 1 202 221.6667
2 2 210) 170.6667
3 3 100] 1196667]
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